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1 Soil erosion is & process of
(A}  Transport of H,O
(B} Detachment of soil particles
(C) _ Transportation of soil particles

P Both (B) and (0

Lo Syfimemd FenL Gl

&) pragpiubagy

B) ek s Gflaug

(0 wer geasa s_SsOUGay -
@M (B} wipb (C)

2, The working pressure required for rain gun is
{A)  2-10kglem?
(B) 0.1-0.2kg/em?

W 8-10kg/em® .
(D) 2-5kglem?

fiiunean wenipd gIiurdd Camear Omdiu Caaanuner SpSED
(A)  2-104.48/0s 8

B 01-028.48/Cs.8

(Cy B-10&4/As.8

M 2-588/Qs8

3, Which weed is found to reclaim alkali soil?
(A)  Cvprus rotandus
(B) _ Parthepjum hysterophorus
(D) Amaranthus spp,
et inairanan STEmEE v geyb senaré Gay g’
(A)  enslyen Qom’ L rem ey
(B) i Baflus ol GrrCunre
() i : s#lsmeanm
(D} cspogrengan svdflay
. AAONT
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4, Wﬁat is the water requirement of sorghum?
(AY 100 = 150 mm
(B) » 1000 — 1200 mm

350 — 450 mm
(D 2500 mm
Camariudd flan BrgGeenas erdususmay?

(A) 100 - 150 8.5
B 1000 — 1200 B8
() 350— 450 4.8

(D) 2500 A8

5. Match the following :

Crop Origin
(a) Rice 1. Mexico
(b _ Sorghum 2. Brazl
() Maize 3. India and Burma
{d) Groundnut 4, Afriea
@ ® @ @
o 3 4 1 2
B 3 1 4 2
i Z 3 1 4
@ 4 3 - 2 1
LGS
Ll ; W T
(a) Qe 1. QuwafiGsn
(b) Gsmann 2. GGy
(€} waamFGerand 3. @aHurnhped Lo
(d) Peds_me 4, ylAfssr
(a) (b} (c) (d)
(&) 3 4 1 2
B 3 1 4 2
© 2 3 1 1
oy 4 3 2 1



6. What is the blanket recommendation of fertilizers for one hactare of ragi erop?
(A) 90: 46 : 45 Kg NPE/ha
(B) B0:40:40 Kg NPEha
(Cy  100: 560 : 50 Kg NFE/ha
M 60 : 30 : 30 Kg NPEha

grdl Lublfid g ﬂm&:_@[s;mu Qumgaumen u';rrl.usl'r e pOUfiEgenT ereuasamey ?
(A 90:45: 45 ACwn genyg, wafl, smbLd/Hen

(B 80:40: 40 G geny, e, smbudd/ Hao

(). 100:50: 50 SGan genyp, wesfl, smbue) &po

(D) B0:30: 30 SCar penp, weafl, ;mm:m;ﬁ

7. Ripening hormone is
(A)  Auxin (B) Cytokinin .
qﬂ/ Ethylene : F) “Gibberellin
Lk Lipss saud@Lb aOTitwrer
(&)  asals (B)  ens GLrensailsn
() ogfden . (D) fourdan

8. Khaira diseases of rice is due to the deficiency of

W | ® B
N

(C) Fe (D)

il sresmi ﬁm;m Gmni) Gsen genpumiL e spuBdng
(A) @ssmrsD (B} Cunrpmes
© @moby M) el pgen

B 5 ; o AAONT
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Cotton

AA) (1) and (2) (B) , (1) and (3)
©) (2)and (3) d’ (1) and (4)

£Cyp s drarancupiflis sranay cuseflad) Lnilrsearrs aeEslULBESUL Berara’?

L agoy
2 Gpé
3. Csmgawn
4. ussd

A (1) wbg @) ® O whgs @)
© (2 wppid () @ (1) wpgud (4)

10.  For how many days the medium range weather forecast is valid?

W 3days
(B) d4-7Tdays
(C) B8-10days

(M  beyond 10 days

@l s curaflee qperarfiafloy aggeaen prlsEnss LG TS B ohkin T

A apdep pmCsienis

B)  preng wppd gup primenis
€)  olioppe 10 prisgmis
(D) 10 prisienive, Cuod

AAONT 6
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Cropa chosen under delayed on set of monsoon is

(A) Pulses

{C) Oil seeda

(B) Cereals
* @ Both (4) and (C)

umaBaa gaeiGurgd Cung Girey Gainuiufn wudli

(A L asens

(C)  oremGhamnd eblgs -

B) grafiu wes
@) (A) wpms ()

1n which state Taungya syetem of cultivation is popular

(B) West Bengal
All of these

s waieiHd Lmiiun gpanp s1gLy. Sguab

(4) Eerala
() UP
(A} Cayperr
Wy s

(a) Silvi —agriculture

®) Agro - silviculture
(¢) Bilvo — pastoral
() Pastoral — silviculture

oG

| 1
c 3
o 4

I

() Hioehl = Gauerm@Emais

2
4
1

(c)

2

3
1
3

—

Mbhhn-l&

(b}  Geuermaman — Hdeflsdst
(6} A - Ldeuaniiy qpenm
@) yeveuaniiy — Seosfladst

(m)
(&) 4

1
@ 3
1

(b)
3

2
4
1

(e)
2

3
1
3

(

MW&H&-

. Match the term with suitable system :

1

et 0 o

2
3.
4

(B) Cuhy auksb
D) Cuopscn s@aEgd .

Pasture is major
Tree 18 major
Alley cropping
Shifting cullivation

e s’y qpddla
wiLh gpflunn

@A Ll apenp

&g ol LS penm

AANNT
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14.  Conaider the following atatamenta and select vour answer !

(a8}  Agro-Forestry is a land use system in which agricultural crops are grown along with
tree craps in the same land and time

(b} Social-Forestry is the practics of forestry by the people and for the people

(A4)  (a) is correct and (b) is wrong (B) (a)is wrong a_nd (b) is mrrcci
{C)  {a) and (b) are wrong (a) and (b) are correct

Episrgpb sprysiensCadn sfiuren clen g Cpis :

(a) Caemansrfear aang Gaemer LdtsGan® wn udismer gl fagda ety Corgfa
LB Bl & uGuirs ppeppumgin

B)  sppsi srBsd adnug nESETD, DESEHEETFlM & HaTRSOUGD SMHed gD

(A)  (a) &l (b) poug ' (B) () paug (b) &

(©) () wigd (b) peups D (@ uipd®) e

15.  Which of the following tree is called Protein bank'? .
(A)  Polyalthia spp. : 0( Acacia spp.

-

{Cy Hardwickia spp. . (I} MNeem
Epsangmb wy cuenssalld agmen ‘Yrgawhid ey suamn

- (A) _ EEL (Rl (B)  smCod cuenmsdr
(C} b omb - (D) Canby

16.  What is the major utility of sandal trees in India?
{4) Paper - (B} Match sticks
d Perfume {1 Plywood

Bhdureles shgen wydsdt cpperad psremnrad L fEstofEng
(&) srdlgib (B) Esmes
(C)  sumsenam Qusmqmyen (DY Slenemey

AAONT 8. . 8



17.

18.

19.
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What is the share of forest area in the total geographical area of India?

[A)  13% 23%

(cy 33k Dy 43%

BpHureden Qurgs Sadomnndd, aamiugida upiuaan ukis ung)?
(&) 13 sgelsn (B) 23 smelmib

(C) 33 spelimb M) 43 spelisib

Consider the following pairs :

1. Wind breaks — Obstruct wind flow

1. Sheltér breaks — Do not obstruct wind flow completely

11I.  Shelter breaks — Planted across the deviation of wind
Which of the pair given above infare correct.

(A Tonly (B) 1I and III only
(© IandHonly 1 Mand 111

(e b EFenerrsatia agy sfivneng?

I srimssBoundasd - smpfler Gausgens mandsib

M. sresps smhmdsfiomenser - anpdier Caumbang @@m@mﬁ R TH
L greups Mmgﬁ;ﬁﬁ.@ Lumsnsar - smpg «Ban ek madsrs pooufaug
(4} . [Twli@o (B} 1T wims ITT o (R

“(E)  1wags 1ol FHo @ 1, U wigb I

Contour bunds are formed?
{A)  Onplain land
(B)  Along the slope of land

W Across the slope of land
o On =tep slopea

S LT UL ST el anandslin(fddnmen?
{A)  sw@eued FeodiorinBe

(B)  Padorinie sflasailgl

(C)  Baiusplinddr ﬁ‘lﬁﬂﬂﬁT ENEES

(D) Baorindlen sy momen sflellc

AAONT

[Turn over


https://www.rrbrecruitment.co.in/

C.lN

20. T range for alkaline soils shall be
- more than 7.0
(B} between 3.0 and 5.0
. () lessthan 7.0
I (I} mora that or equal to 4.0

smy warsuessEsEsTer sfle — arg fleva (pH)
(A)  7.04m Cod

(B) 3.0 whpb 5.0 s e Cu

€. 10458

@) 4.0 wppb 4.0 g Cuod

21,  Which ia the chemical formula for urea?

Ca(HFO,), (B} NH/MNO,
.wf Co{lNH,); (D) NaHCO,
whwrefen Cabiudg @Huso
{A)  Ca(H,PO,), (B} NH/NO,
{Cy  Co(NH;), (D} NeHCO,

22,  The chemical name of muriate of potash is
(4) Potassium sulphate
{B) Potassium nitrate
{Cy  Potassium phosphate
Potassium chloride

apfGa - gl - Qumi L ney-dr GeuBuflud Guwi
(A)  Qumirflub sdGuc '
By Gumirflud em Gl

(€  Quriirdub umdGuc

M Quriurwd glarreng{

AADNT 10
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24.

(D)
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Mateh the following -

Particla Diameter {mm)
(a) Clay 1. 0.20-20mm
(b} Finesand 2. above 2.0 mm
(¢} Coarse sand- 3.  less than 0.002 mm
(d) Stones and gravel 4. 0,02 = 0.20 mm

(a) (b} ic) (d}
(A) 3 1 2 4

3 4 1 2
i 4 3 1 2
m 3 4 2 1
Qg :

wengsd SAILLib (16148)
(@) seflodr gas L Q.20 apssi 2.0 L8 asey
B @ wand 2. 20808 & G
(g} mger wemrd 3. 0.002 S8 g Ly
(d)  spser () spriispaar 4. 0.02 apge 0.20 .8 sueny

(A} 3 1 P 4
® 3 4 1 2
(i 4 3 1 2

3 4 P 1

Which of the following is added fo reclaim acid soila?

(A}  KH,PO, By KC

(C) NaOH . G~ CaCO,
Bpicnmeinuiupicr srenenss LwdL@ES Sl wememen sfQsiema?
(&) EKH;PO, (B) KCl

(C) NaOH (D) CaCO,

11
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25.  The formula for Sodium Absorption Ratio (SAR) in irrigation walter is

Na* Ca**
(A —— (")
ME _|_H 2 Na* + ME-H‘
Na” Ma*

....... (o
2 2 '

wrsar fifle: Canguib o digmb el fah siflasisrar mgdnd

Ngi R C&-ﬂ--‘-
W = (B)
: Llla H N-E.‘“- + ME- -
| Na* Na®

) )
i 2 2 2

. 26,  Which of the following is urease inhibitor?
Ay N serve By Térazole
© AM O NBPT

Semaumasereuppet sl wfithuse (urease) Qprd Qewidfipdn sHOLTER e ]
(A) e giviun (N Serve) (B) Cqgmera (Terazole)
(€  eeb(AM) - (D) erem .5 (NBPT)

27.  What is Residual Sodium Carbonate (RSC)?
(CO, + HCO,)} - (Ca + Mg)

(B) (€O, +HCO,)+(Ca+ Mg
©  (Ca+Mg)-(CO, + HCO,)
(D) (Ca+Mg)+(CO, + HCO,)

ergedlws Comg o sriuCen. (REC) erarug wing?
(&) - (00, + HOO,) -{Ca+ Mg}
(BY (CO,+HCO,)+({Ca+Mg)
{Cy  (Ca-+Mg)-{CO, + HCO,)
D) (Ca+Mg)+(CO, + HCO,)

AAONT | 12



31.

‘L"u"hich type of avil exhibits self turning property?
" Black soil . (B) Red soil
(0 Alluvial soil (D} Laterite soil

ThS Quens e FU 2 ipey Thul. aflasadanng?
{AY  sflaco e ; {(B)  Qmbwosr
{C) s e DakT {0} Qsbyeny wer

-

Bail colours are determined by the comparison with the
(A} Leaf colour chart

M Fick's law
@’ Munsel colour chart

I Atterberg’s limits

e Singeg Fiemuilas Loem g
(A)  Eence o eameen sl

B Sk Camlunp -

(C)  ppead: cudmamn S e

M) ol mEUiE sussmuenm

East coast tall is a variety of
(A)  Arecanut ﬂ/ Coconut
() Cashewnut (I} Cocoa

Epded s paet Hplen ereig —————— FRnmE LD,
(A)  umem : (B) Cadnenen
©  apdf (D) QaraGar

iz grown for extracting forakohlin,
{A)  Ashwagandha : (B} Periwinkle
(0}  Senna W" Medicinal coleus

“CumigEardlen” ereng wobiisrs eTasOUHE wmSse ot e

(A) el smET (B)  Hiusdiref

(Cr  fler suoumeny D) gt dsen
13

= :The Information Provided here is only for Reference.It may v
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&

33 . variety of Tuberose 1s an example for double type.

J._A Suvasini By Shringar

(T} - Prajwal (1) Arka MNiranthara

rem a0, BT e (R siutilie Gm aEsEEsmLTED,

(A seurfadl ) B Sfisr X

© Grgamé D) it Hupgson
33. yanti.ng one acre of turmzf'ic, ————— kg of turmeric Rhizome is required.

1000 ke (B) 2000 kg '

€y 3000 kg (D) 500kg

R FhREE LOgTEET Fi el i, flGan afleng greeT CamalinBlang.

Ay 1000 S (BY 2000 G

{Cy 3000 &G (D) 500 &Ger

24.  In tyrmeric, 10 days before harvest —————————— cm above the ground level, the plant
ahould be cut and removed, to decrease the turmeric moisture content.

{Ay Bem {U’lﬂcm
(C)  20em : D} 30em ’

mﬁﬂﬁw FROUEEflne  @enpEe,  oqnsuen_gs - 10 o T genmnl_L_ghelimbs
el el [ gmen aﬂmﬂ el G g,

(4)  5Qs8 B) 10Qs.8

(Cy  20dss My 30Qs.8
35. Urigamisa varietyof

(4) Cinnamon i/ Tamarind

{C) Coriander ' (D) Ginger

o flsib eramg ———— ufiflan paunrE b,

(A)  Beaksiud e (B) wush

(0 CGargmoda D) G

© AAONT 14 ' B
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ar.

‘Agarene’ iz present in the roots of

w’ Vasambu

By Vetiver

{Cy Thulasi

{1y Medicinal coleus

(A)
(B)
()
(D)

s

ey Gaur
glard

(g smibadn

Match the following :

{a)
{b)
()
(d)

(A)

(B
or’s

(o}

List 1
Tree
Climber
Shrub
Annual

de Lo B3 e

-

PR

a) (B
4 1
g
4
3

2

. B
- R

1

ﬂul‘l@ﬁﬂ 2

(=)
()]
(e
(d)

A
By
)
o)

e Mm@

ul g I

Wy

QEmg euens
L Qg suens
ey el

Co-— T

-
=2
=

4 1 3

B bR b2

2 3 1
3 4 1
1 | 2

+Jrcrorecruitment..co.in

*gysBrrar’ arggiid CaufliQummer eriiliflan Cauflallmigy erBESOURADE?

List I1

Acalvpha hispida
Celogia arpentes
Spathodea campanulata

U igud T

sismalun eficudi
OsCondhun 2t Qgdngun
Eefldusenelisy §angen

15
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38. “Gundu and ‘Samba’ are types of ‘/
{A)  Tomato Chilli
- {C) , Bhendi (D) Brinjal

EaER Wz sbuT ssmssaT ————— Luflsny FTTEEEL
(AY  mhsaei {B) Heramis
(C) | Qeusiren - B D) spsh

39.  The economic part of potato plant belongs to n(? part of the plant
(A)  Tender fruit Stem
(C)  Roet (v Mature fruit

o EENETE .!tjg;l fumreng sreup fflwres Qe elan g s’ LEgunmb?

(A} Siges smi (B pend
{0y Gaur (D aeddfile sml

40.  The percentage of early majoirty in a social aystem is
(A) . 25 (B) 135

“1/ 3;1 D 16

sepaifla Qenfdm’ ugog Swhlsrdnams Sflsfeafls Qumburatsmi ssfluns e

sliljpsan(p & drerant
(A) 25 By 13.5°
) 34 * D) 16

41, ‘Inerops, more uniformity is seen in the population of
(A} Synthetic - (B} Dwuble cross hybrid
Single eross hybrid . (DN Composite

wilirsefld s idsrensda gl fmar garee Geraug sraup fld snamiuGHn

A uddgs A QME.‘I-JL] GUENE (B) BErieissalng
(C)  gdanmk ey (M) e Qummer sl @
AAODNT 16 ) i]
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Maize 18 a eross pallinated crop
{A) It is having bisexual flower.
(R}  Male flowers are at the top and female flowers are found at the bottom at leaf axil.

(4}  (A)and (B) are true and (R) is the correct explanation of (A)
(B} (A)and (R) are true and (R} is not the correct explanation of (4)
() (A)is true and (R) is false

Pr” (4) is false but (R) is true

ID&EETEENSTIE G SILE LETEE Crrims Qamam uulla

(A)  sfle Bim umd mu:nrrm EmeTLL (I,

R} ufle .spem weisd Geguilen pellursgdlgns Juss weansda Fersouilen ﬂﬁnﬂﬂﬁ.ﬁgum
ETERTLILIRLD,

(A (A) wipe (B) Braagw & Cuogn (B) adarug (Alelipeg sfwne eflarisn

(B} (A) waps (R) Brario A Guogib (R) edrog (Adibe sfurer eflassnden

€ (A) =fi gpenmss (B) geupy

M) (A) geugraenne (R) s

What is the validity pericd of certification tag issued by the seed certification agency?

(A} 6 months ° Mm&nt.ha
(Cy 16 months (I} 18 months

chlengs smdaph geopulannd supdisiun dmgs srenm oL ssns framdssiul L sros Qs
eTeusUaTR Y . '

{A)  Guwrgrise B) 9 wnphsd

(C} 15 wrghiser " (M) 18 wrghsar

In three line breeding system, male sterile female parent can be multiplied by crossing

(4) AxA A < B

(©. BxB @) AxR

ey mgﬂ Berdsaiy aperd cleng o iagfudid q,m wal [HEsaew Gardn. e @uﬁgﬁmm

ereeum e dufésin Gaﬂmmm
A AxA . (B) AxB

(C) BxB D AxR _ .
17 - AAONT
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45, \'Irh.ich.amo‘ng the bmed_.fng methods is not suited for cross-pollinated crops?
{4)  Hybrid development :
{By Synthetica development
: .c( Multi line development *
{0}  Double cross development

Epsa LT BeniGumés apempsaf ag S 0srkE Cotbas aimssEnEs QunmBETE?
(A eifw gl B e pud

B weBpsHA Aermiy e puss

€ uveeafasdsrgiy Lﬂ:uﬁ#

M Eriecsoiyedusd

Tamil Madu Rice Research Institute 1s located at

Mﬁduthu.ra.l "B B’huvnnagi.ri
(C) Cuddalore (D) Coimbatore

SBPETE Bipds gprmissd Henswih eriimetang?
A s (B) ysuerdfi
(C)  sLgan I i My Csmubyggnt

47.  Which of the following have the dimorphic anthers?

{4) Cumbu ' Vﬂmund.nut
(C) Rice : (D} Sesamum

Berasmd LA ksdd b Lk G axmmwnon LpECETHDH Dok Gurin. warhsh o disg)
@) sby : B) Pois e
€y Gpo ' D} erar

AAONT 1%
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For routine disinfection of silkworm rearing house, the concentration of formalin used is

W 2% B)- 2%

)y 4% ! o) &%

uC Bl pssd aemiagin of e Gpml Ganpp s ssming apEGurmer Soniedldn es seemaild
e uBursiufpss CaarHn?

Aa) 2% (B) 3%

) 4% D) 5%

Use of light trapa is a what method of pest control?
(A)  Cultural

efferigl Aumfl s LGwrdliug aps s Liflsasr s BOULERERD QpeDwmngd?
(A ejpeiue wa

(B Qe sLBOLTE

(€ ° apdr s_BULTE

D)  Casfld s Giomy

The age of the mulberry saplings to plant in the main field for low or high bush is
(4) 70-90days

wr? 100- 120 days

(C) 130 - 150 daya

D) 160 - 180 days

aif awg eerw waufl gragsas Gpgres yagfe (main field) gepars sdon ofs
@656 Usg auaieaupd® Thpeas? :

(A) 70— 90 prsdr ;

(B) 100- 120 priss - ' i

(C)  130- 150 priser

(D) 160 - 180 priser

19 AAONT
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51. Which of the following insect larvae completely feeds the internal content of graina?
(&) Indian meal moth
(B) Khapra beetls
(C)  Rice moth
Rice weevil

6 wdllen Lpkse snealubien »iGer o draTaipenD apagenbwLIns Hdpe Hib?
(A E G Eomig A

(B)  smipm audsEy

© OpéQoriysh

D) A mera®

52.  Earthing up operation in sugarcane reduces the attack of
Early shoot borer
(B)  Internode borer
{C)  Top shoot borer
() Gurdaspur borer

s e SenardEd apanh ahs AR grégzene SLHOLBEFumDY
(A)  Remh @&mEsI0 U
(B) @ sgplue
(€  pefs @mee0 i
- M @rgrEvgiyy

53. Expand MEL

' : wﬁ Maximum Residue Level
(B) Minimum Residue Level
(C) Maximum Resistance Level
D) Minimum Resistance Level

;-nhq,ﬁv;rd.: ailflayou BEd smns

(A)  sfsucs g pis s

(B)  @egpsuls aEsfio e siare)
(€  sfisuls afiiysSpen sierey
@ seopsels adiiiug Spear serey

AAONT : 20



64,  Which one of the following are used as eprayable pesticide formulationa? -
1 Duata
2. CGranules !
3. Emulsifiable concentrates
4 Wettable powders

(A) (1) and (2) of the above
(B (1) and (3) of the above
(C)  {2) and (4) of the above
W‘ {3) and (4) of the above

dpisar_apfo ohs ame Wif 0HhEH e meundsh Ggaify euBursiuBigens
Lo gger

2. @mener

8. fyewmpp S

4, peneral gid :

(A (1) wpmpb (2) Guwlen e e

(B) (1) b (3) GG e arerfds

(C) * (2) wpmb (4) G e

(D) (3) opmpd (4) Gl oererds

55.  Pre immunization technique is successfully employed for the control of ’
M Citrus tristeza virus
By  Rice tungro virus
(T Sugarcane mosaic virus

(D) Rice grassy stunt virus .

afiiiy  s&fl s @sd  Gamfe mlud Guifspeds ey Cprewd  sCHOUEES
uwsrLRssLREADE
(A)  egfiFens ufieg e péed
(B} Gpe griGn pisfl
Q) smby Csnd pasd
D) Gpd Ul gl misd
B 21 - AAONT
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®
56, Ph gamic parasite associated with sugarcane
Striga ¥ (B} Loranthus
(C}  Orobanche : (D} Cuscutta

SMDENLIE SIS WS Sreun g ag?
(A}  evmengsr = sEwoea (B} Qamyrergen

€} grumeds D) seomlem

Ll

57. {a) Phyllody symptom is specific to the disease caused by bacteria
(b} Mosaic symptom is specific to viral diseases
() Smut and rust symptoms are apecifie to fungal diseases
Which statement is correct?
(A)  {a) is wrong ; (b) is correct (¢) is wrong
({ {a) is wrong (h) ;md (e} are correct
(C)  (a) is correct {h}l and (¢) are wrong

- A  {a), (b) and l.{c} are correct

@ webpp onflehl uriefiun Cpniég o Aug
b Seadid Jaafifiu ubes wipb st usens wr@ond Caranmpe s (mosaic) el GEmlsE
: ieé.lf:iu.:ﬂ
R (I L-IH.LH'JI_ wibpd @i sflmlisd yean Cpmise e Mg
Guopsan suréduidksate og sflurang?
(A} (a) g (b) &f () maug
(B)  (a) gaug (b) wimib (c) sl
C)  {a) &R (b) wpgd (c) gaupy

(D} (a), (b) b (e} #A

AAQNT 22 . B
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L
What are the months in which north - east monsoon is received?
(A)  June to August '
V@™ October to December
() January to March
(D)  April to May

aLdipéE Lmauomp ehEahs wrehsafld S sdpg?
(A g e gadul ceng "

B sEGurum apgd g SDUF sua

(C)  mgeareuf apgmed wiid asoy

(51 ]] ml:q&r g G suany

59. What is the best suited farming system for livestock in Indian conditions?
{A) Specialized farming
(B) Diversified farming
NP Mixed farming
(D) Lay farming
B s srapmsEneE L suanily e 57
(A} Apuiy vemene apenp
(B) wegriul L Letaar (pen g
(C)  mewiSen Ldmana ap@p !
D) Ga v ppanp
60.  Incubation period for cﬁnkﬂn .
(A) 17 days I ' . Ml days
(C) 28days : @) 95 days
. Camf s Sardmb sra ey
(A) 17 pmimar 4 . B) 21 prlser
(©) 28 pmiset (D) 35 pm_aer .
p 23 AAONT
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®
- 61.  Right time for insemination in buffaloes is ————— hours after the beginning of heat
symptoms, '
& 4 o 12

© 20 _ M 28

apmoseia Aommpsme sbohisan saul b smEpild —— ol Copii

AFEinudiui. Gaudm (i,
Ay 4 ¥B) 1%
{Cy 20 (Dy 28

62.  Percentage of sand in sandy soil .
(A4)  =75% 19(:» T0%
(Cy =65% D) >60%

e sl mmen el wemreller ageil £z
A > T75% B = T0%

) =65% M) =60%

63. = Broiler-strain of chicken

(A)  Babeock
(B) Hyline .
(Cy BV300
'M Vencobb
@epsfasnen Camfl s
Ay Guises ;
(B)  engmeven
(C) del- 300
(D) Geuarsm
AAOf17 24 B
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64. For which poultry discase, vaccination is & must?
{A) Polyneuritis
{B) Cragy chick disease

Curl toe paralvsis

qaf‘ Ranikhet

m@.ﬂkﬂ Grmisg sHuws seudlob?
(A)  proysaicn GLEGwLESE spH
B)  mens ang Grmi
(C)  suenar lgd eung Gmadl

D) Qesdremand sfilssd Cpmi

S a

65. Which among the breeding methods is not suited to self-pollinated crops?
(A) Pure line selection (B) . Hyhbridization and selection
W Composite dEFE]n]}mﬂl'lt. : M Pedigree selection

Epsawm b @muﬁh.n@u pempsais Son wahs Gonins aumssien el Q‘-’“Wﬁﬁ erg?
(A) g aflesd sflay ' (B}  selyeyfsdsfie
(0 weBunmer s G gy (D) anbemsuyfi Qsiley

66. For a good la}rﬁr'the.muulting pattern is

W' Late and rapid

Early and slow -
{C] Late and alow
(I}  Early and rapid

penprs e Bib Camfuds Bog e Ho dlsb
(A)  gmoglorse Eﬂi:w'ﬁ]_.ll"ﬁﬂqlb

By  qpenengusayd Guogansayb

(C)  pmogorEaD G@mmm

(I gpavensneeyD Eﬂﬂ:qmrm::l.hh

B . 26 | AADNT
{Turn over



67.  Frozen semen is stored in liquid nitrogen at
(A} rC : (B) =100°C

() =137"C -euf —196°C

e efligm Sre eobl pigeild e Gaidw Peoauie CalldstufE g ?
(&) Qs ' (B) -100°Cs
€y -137Qs Dy -196°Ce

68.  In the cattle shed, the inner width of the manger should be

W %0em @/ 60em

(C) 9em ! e} 120 em
wrl BF Agnpaugha Saeng Gemligulies e 1 siscnb

{A) 30Qsud (B) 60Qead
(C) 90@s. ' M) 120Qs.8

6. yﬂt age of the calf the dehorning/disbudding should be done?
2weeks of age

(B) 4 weeksof age
(C) 6 weeks of age
{D} 8 weeks of age

sapsafic Qsnby fési) Gamby Guor § Bést as anfé Gmin GeusnGin?

(A) 2 eunr e
(B) 4 ey augflds
(C) 6 aunry cunidld

I Banmpenwda -

AAO/T _ 26




T0.

Tl

T2.

The process of breaking groundnut pods and aepuatinﬁ nuts form the shell ia called

(&)  Stripping

& Milling

ﬂmnmmm L, s umoamu 19ASESHOUE

(A) efgsd

(C}  eopsgd

Compression ratio of diesel engine is
(A)  Less than Petrol engine
{C) 4:1t08:1

(A)  GQulGhomé H’W el menpey
(C) 4:1to8:1.

Final drive provided in tractors is for
{A) Increasing the speed.

w" Fingl speed reduction

{C) Reducing traction

(D) Reducing torque

T orsLfd Himd Hossersr

(4)  Caspeas sbsiubss
B  GofCuspos gropss

MO Gueasu gapss -

(D) opmbe claramy geaopss

(B) Polishing
T Decortication
— ETETLALI(BILD
(B) Uumscid
D) sy Caayer

B) 14:1t022:1
D) 8:1to10:1

.
@1"‘14:1@22:1

D 8:1tol0:1

&xms puauBdng.

27 . AAQMNT
: fTurn over



®
78, Im—— the cows are housed in a covered or partially covered yard, but milked
in batches in a special milking house called milking parlour. i

M Loose housing barn

Stanchion barn
{C) Open air barn
(I Pen barn or isolation barn

e wrsd, ugd pprlul. mebes ApopRuEID apLOUCL Mn}
e sstulf, uiGayy Dsr@uysaTs Lrd S6ED gafl B sH urd spaa AeluiuBidapen.

(A perieunan i f sengsdlunn

(B)  eGLénfumen sangsuid

© Appplaeh segdub

D seflantuBasio’ L ssmddlaib

74.  The maximum power that can'be developed by an average man for doing farm work is

A) 0.01hp
@ 0.10mp
(© O5hp
@ 16hp

@ ST wellsan Udinnan Caimasdiar QLTS . hukS Griwb SBsiurLe 58
(&) 0.01 ghersfpea
B)  0.10 pReysfpan
{Cy 0.5 gharsfper
(D) 1.0 ghegifpen
AAONLT ' T . B
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e _ :
75.  Capacity of a septic tank for an average size family of five members (2 adults + 3 ch.ildm:!l}
(A) 4.0 cubic metre

(B) 3.5 cubic metre

d 2.8 cubic metre

(D) 1.4 cubic metre

srsfluns ghg suisdr (2 Quiiuaisd + 3 Gpbassdn) e der GROUESDaTE Qi sGidd
(G T G BT e R L. :

{(A) 4.0 senBloi |

(B) 8.5 manflon

Q) 2.8 semfiod

(D) 1.4 sanblo i

" 76, The inflation pressure of the tractor rear wheel varies between

m‘/u.s to 1.5 kg/em®

(B) 1.5to2.5 kgfem?
©)  2.5t0 3.5 kg/em®

(D) 3.5 to 4.5 kgfem?

AL fldn Qensasrrised Ui umm
A) 0.8 s 1.5 BCardmblagy Gek,
(B} 15qpse 25 mwﬂ#ﬁmlr!ﬂ Qsil
(C) 2.5 apgdd 3.5 SGeondlymi/sgy Qs.d.
@) 3.5 apsd 4.5 BCwrymblsgr Q..

B 29 AAONT
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T77. - World food day is celebrated on

()
(®)

July 16
Plj.ugusl i6

Septambar 16

: M(}mbe‘r 16

eas & earay e erLCuirg Cansrm UiofGllanng

(4
B
©
(D)

EShenc 16 ) >
aymen 16

© Gedbot 16

G T 16

78.  Escherichia goli is used as an indicator organism of water polluted with

(A)

Heavy metals

ﬂﬁ Fecal matter

(C)
(D)

Industrial effluents

Pollen of aquatic plants

el fuin Bsmel, erénp fuekrgpSi $fld o drar aps wrslQunmeners 5w s snl Gy

(A)
B}
()
()

AAONT

' man e Gammi

e Sy
Asmfiperena sifley B
B cum prauplisaficn wagppo
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